
[bookmark: _GoBack]HONORS ALGEBRA 2– PART 2 OF SEMESTER 1 TAKE HOME EXAM- MANDATORY
Show all work on a separate sheet of paper to receive credit. This portion of the semester exam MUST BE DONE in order to receive a passing grade. If you need help I am staying for tutoring Tue, Wed and Th (Dec 10-12). Complete all questions!!! (circled questions does not mean anything/so ignore that)
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29. Shoes were on sale for $68.25. The shoes were discounted by 12.5%. What was the
original retail price of these shoes?

30. Two numbers are in the ratio of 5:2. One half of their sum is 10 . Find the numbers.

31, Terry spent three eighths of his monthly salary on rent, and one third of her monthly
salary on food. If he has $294 left, what is her monthly salary?

32. The lengths of the sides of a triangle are consecutive integers. Half of the perimeter is
14 more than the length of the longest side. Find the perimeter.

ratio of carbon to oxygen, by weight, in carbon dioxide is 3:8. How many grams of
carbon are in 77 grams of carbon dioxide?
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34/A 1.5 b, steak cost $5.80. Find the cost of a 2-Ib. steak

35, The tax on a restaurant meal that costs $24 is $1.44. Find the tax on a meal that cost
$35.

36. A collection of quarters, dimes, and nickels is worth $22.80. If the ratio of the quarters
o dimes to nickels is 5:3:7, how many coins are there?

37. Students working at a refreshment stand mixed cranberry juice at 50 cents per iter and
apple juice at 35 centers per liter to make 120 L of  fruit drink worth 40 cents per liter.
How many liters of each did they use?

invested two-thirds of his money at 12.5% one-fourth at 8%, and the rest at 6%. If
his annual investment income (interest) is $1625, how much did he invest altogether?

39, A Snickers bar costs 20 cents more than a Milky Way candy bar. Six Snickers bars cost as
much as seven Milky Ways. Find the cost of each.

_ 40. A rectangular fish pond is 7 feet longer than it is wide. A wooden walk 1 ft wide is
placed around the pond. The area covered by the pond and the walk is 58 square feet
greater than the area covered by the pond alone. What are the dimensions of the
pond?

41. Find two consecutive negative odd integers whose product is 255.

42. The length of a rectangle is 6 cm more than three times its width. The area of the
rectangle is 144 square centimeters. Find the dimensions of the rectangle.
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43. Find two numbers that total 12 and whose squares total 74.

44. The length of the rectangle is § cm less than twice the width. If the area of the
rectangle s 88 square centimeters, find the dimensions of the rectangle.

45, Aball is thrown upward with an initial speed of 24.5 m/s. When is it 19.6 m high?
(Given: h=rt-4.9t)

6. Aball is thrown upward from the top of a 98 m tower with initial speed 39.2 m/s. How
‘much later will it hit the ground? (Hint: Consider the top of the tower as level zero. If h
is the height of the ball above the top of the tower, then h = -98 when the ball hits the
ground.)
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1. 1am thinking of four consecutive integers. The sum of the squares of the second and
third is 61. Find the integers.

}ﬁ A glass of milk cost $0.70. If a glass of milk and a sandwich cost $2.50, how much does
four milks and three sandwiches cost?

3. Aplane flew 145 km/h faster when it was flying with the wind than it would have flown
in still air. If its speed with the wind was 970 km/h, find the speed of the plan in still air

4. Arectangle has a perimeter of 72 cm and an area of 288 square cm. Find the length and
width of this rectangle.

@A piggy bank contains 36 nickels, dimes, and quarters. There are four more dimes that
quarters, and twice as many nickels as quarters. What is the value of al the coins in the
piggy bank? ;

" 6. Thelongest side of a triangle is 8 cm longer than the shortest side and 5 cm longer than
‘the third side. If the perimeter of the triangle Is 56 cm, find the lengths of the three
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whole milk has 40 more calories than 2 gass of apple juice. If the total number
calories in one cup of each is 370, fin the number of calories in each.

10. Carrots cost $0.75 per kilogram and potatoes cost $0.70 per kilogram. A shopper
bought 9 kg of the vegetables for $6.60. How many kilograms of each did the shopper

buy?

11. A total of 720 people attended the school basketball game. Adult tickets cost $2.50
‘each and the student tickets cost $1.50 each. If $1220 worth of tickets were sold, how
many students and how many adult tickets were sold?

12. Two trains leave a station at the same time, heading in opposite directions. One train is
traveling at 80 km/h, the other at 90 km/h. How long will it take for the trains to be 425

km apart?

@Gm leaves home at 8 am. Ten minutes later, Webster notices Grace's lunch and begin
bicycling after her. If Grace walks at 5 km/h and Webster cycles at 15 km/h, how long
will it take him to catch up with her?

14. At noon, Steve left a boat landing and paddied her canoe 20 km downstream and 20 km
back. If he traveled 10 km/h downstream and 4 km/h upstream, what time did he arrive
back at the landing?

15. A jet took one hour longer flying to Lincoln from Adams at 800 km/h than to return at
1200 km/h. Find the distance from Lincoln to Adams.

16. A rectangle is 4 m longer than it is wide. If the length and width are both increased by 5
m, the area is increased by 115 square meters. Find the original dimensions.
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17. A rectangular swimming pool is 4 m longer than it is wide. It is surrounded by a cement
walkway 1 m wide. The area of the walkway s 32 square meters. Find the dimensions
of the pool.

18. A print is 10 cm longer than It is wide. It is mounted in a frame 1.5 cm wide. The area of
the frame is 399 square cm. Find the dimensions of the print.

Ilﬂndl’mmllmnmumihlﬁmﬂﬂwvmmme’t.
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20. The sum of the squares of two consecutive positive odd integers s 20. Find the
numbers.

21. The sum of two numbers is 12, and the sum of their squares is 74. Find the two
numbers.

22. The edge of one cube is 4 cm longer than the edge of a second cube. The volumes of the
cubes differ by 316 cubic cm. Find the total surface area of each cube.

23. A rectangular flower garden is planted in a rectangular yard that is 16 m by 12 m. The
garden occupies 1/6 of the area of the yard and leaves a uniform strip of grass around
the edges. Find the dimensions of the garden.

24. At3 pm, Markleft Pittsburgh and drove toward Cleveland, 208 km away. At 3:30 Carole
left Cleveland and headed toward Pittsburgh, driving 2 km/h slower than Mark. If their
cars passed each other at 4:30 pm, how fast was each driving?

25. Find three consecutive even integers such that half their sum is 7 less than the greatest

@Ammwummmumm How much water should he add to
make a solution that is 10% acid?

27. Susan drove for 2 hours at 85 km/h and then for 3 hours at 95 km/h. What was her
average speed for the entire trip?

How many liters of water must be evaporated from 20L of a 30% salt solution to
produce a 50% solution?




